How many solutions do these systems have?
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=ox t+ 2y =-8
3x+ y: 7 Example l1a)  Solve algebraically:

-6x + 2y = -8
SBxt+y=7

Example 1a)
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Example 2a) f’;‘ +_3' =='i Example 2a)  Solve algebraically:
3x+ty=-1
-9x -3y =3
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How many solutions does this
system have?

2x+y=5

-6x -3y =-15

A Infinitely many

B No solution

C One solution
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2 How many solutions does
this system have?
-6x+2y=4
Ox + 3y =12

A Infinitely many
B No solution

C One solution

3 Graph and determine how

many solutions the system
has: x+y=7
2x -2y =-18

A Infinitely many

B No solution
C One solution
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In words, how do we determine no
solution and infinitely many
solutions?
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